1/4" X 1/2" LONG

2" GALV. STEEL CARRIAGE BOLT & NUT

16GA. GALV. STEEL
TOP BRACKET WITH
14CA. ROLLER HOLDER
SEE DETAIL D.

HORIZONTAL TRACK USE_EXTRA
16 GAGE OR 13 GAGE 1/4" X 3/4
BASED ON THE WEIGHT HEX HEAD SELF N
/ @ OF THE 0007 DRILLING SCREW 0)
Y USE (2) 1/4" X 3/4"
> SHEET METAL SCREWS. a
[
/47 X 1=1/2" X 13GAGE MIN, U 2" ROLLER WITH 7/16" DIA. SHORT STEM.
GALV. STEEL HORIZONTAL ANGLE., - e TIRE: 7 BALL
H
13 GAGE MIN. CALV. STEEL ~N :|
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH 0TS
5/16" X 1—1/2°LAG SCREWS. DETAIL D ]
2" 16 GAGE GALV. STEEL - -
VERTICAL TRACK BOLTED >
TO TRACK BRACKETS WITH
1/4"-20 X 5/8" TRACK
BOLTS,
. - 2'
OPENING HEIGHT SEE DETAIL E
(NOT OVER _%L‘/—
DOOR HEIGHT) M : 14 GAGE GALV, STEEL END
HINGES ATTACHED WITH
\~/ (5} SCREWS TYP. (SEE DETAL F)
1]
507 DETAIL E
(97X 8 e ]
427 |2 BRACKETS EAGH SIDE |
(9’ X 7)
1/2" POLYSTYRENE THIS STRUT BELOW HINGE LEAF
1] J INSULATION STANDARD OTHER STRUTS IN MIDDLE OF
= FOR MODEL 735 SECTIONS.
GALVANIZED STEEL STRUT.
5 ATTACHED WITH 1/4” X 3/4”
20 GAGE END STILES — FASTENED B Nt A, SELF
USE' ENDCAP OVER ERp&LES. (2 PER VERTICAL STILE)
StE DETA 21 OR 24"
/4 | STOP MOULDING NAILED EVERY 12" N PANEL GALV. AND 1-3/8" POLYSTYRENE INSULATION
Z9 | 6~D TYPE NAIL MIN. IR\ PREPAINTED STEEL OFTIONAL FOR MOD. 724, 730,
25 GAGE FOR ALL % 750, 426 & 755.
i L L MODELS EXCEPT
22 74 GAGE MODDEL Z 13 GAGE GALV. STEEL BOTTOM BRACKET
14 750, 755. ATTACHED WITH 2 FASTENERS
Pe HOTTOM SCREW CAN BE ABOVE OR
— BELOW ROLLER.
20 GAGE GALV. STEEL 4 ()
18 GAGE GALV. STEEL CENTER HINGE GENTER STLE i
13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1—1/2" SECTION A—A
LAG SCREVIYS & WASHERS. PREPARATION OF JAMBS BY OTHERS.
SEE DETAIL E.
SECTION B-B NOTE: ALL NON—DESGRIPTIVE FASTENERS SHOWN TO BE
1/47-20 X 5/8" HEX BOLTS & NUTS OR
1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS.
PS.F. TABLE
DOOR_SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH | HEIGHT | POSITIVE | NEGATVE | POSITIVE | NEGATIVE
9'-0"7'-0"[+27.0-31.2 |+40.5|-46.8 P SO
(/13
H ¥ 1 n
9 _O 8 __'D +27.0 _30>4' +40v5 —45.6 \John E SCOJ(ES PE

3121 FAIRGATE DR.
Carrollton, TX 75007
TX~— PE 56308 F—2203
FL-P

(972) 492——9500
Professional Engineer’s sedl

provided only for verification of
windload construction details.

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

OPTIONAL 3SB GLASS LIGHTS

4 STRUTS

3" 20GA WIDE (D WIDE 9 X 7
3" 1BGA WIDE 9 X a
(SEE DETAIL A)

-i = 125"

|

30

€
L— 2.75" ——I

DETAIL_A

20GA WIDE STRUT (9
18GA WIDE STRUT (9

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR

OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION

(SEE DETAL F)

X7
X 8

(SEE DETAL ¢) e
1T I { I T T T T I
i i 7 ok &
| [— — ] J

ALTERNATE CONSTRUCTION
USING (2) STRUTS.

" ,_>A p OPTIONAL
LONG PANEL
e EMBOSSES
= [ PTIONAL LOCK

B

4 o ¥
22T g

N
(SINGLE

L 1k

CENTER STILES & CENTER
HINGES (1 COLUMN)

4”X 16" AIR VENTS

SPRINGS). 2) REQ'D.
80 SQ. IN. MIN.
TOTAL OPEN AREA)
OPTIONAL. END STILE 20CA.
RAILS
o
O END CAP 20GA.
\./ DETAIL C
L.H.
50 S0 S5 e g
HROU AF OF HI )
LE O o e 9 X /
DETAIL F
NOTE: GLAZING DOES NOT SATISFY IMPACT FL 15080 9 >< 8
DEBRIS REQUIREMENTS IN FBC
‘ 5800 SCOTT
WINDSOR HAMILTON DR.
LITTLE ROCK, AR
72209
Doon (501) 562—-1872
MODELS:
724, 426, 730, 735, 750, 755
D |REV LOGO & ADDRESS|1/28/13 PART NAME:
C 12/15/11 RLB WINDLOAD RESIDENTIAL PAN DOOR
TOLERANCE W3 B
B |2866(3—10—-08| RLB .
A _|2848|11-1-07| RLB |oea s 'bia| NEXT LEVEL [ DATE: DWC. NO.
28101 5-8-07 RLE ANZ}::L; PLOT SCALE ié?/a?j 99 —B—081
REV.{E.C.N, DATE AFPRCOV.I NONE BH SHEET 1 OF 5




3/4" X 1—1/2" X 13GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE.

e

2" GALV. STEEL
HORIZONTAL TRACK
16 GAGE OR 13 GAGE
BASED ON THE WEIGHT

Yy OF THE DOOR. USE

OPENING
HEIGHT
(NQT QVER

DOOR
HEIGHT)

OR FLAG BRACKET. FASTEN TO WOQD

/ A SHE
/%3 GAGE MIN. GALV. STEEL TRACK SPLIGE

\—2' 16 GAGE GALV. STEEL
VERTICAL TRACK

—]

SEE DETAL E
|t 1Y
T'H’r
et
|
L

] 20 GAGE END STILES — FASTENED
WITH TOG—L-LOCS TO PANEL.
USE END CAP OVER END STILES.
(SEE DETALL B)

STOP MOULDING NAILED EVERY 12"
6—0 TYPE NAIL MIN.

[ 1 1

JAMB WITH 5/16" X 1-1/2% LAG SCREWS e}

1/4” X 1/2" LONG
CARRIAGE 'BOLT & NUT
USE_EXTRA

1/4" X 3/4"

HEX HEAD SELF
DRILLING SCREW

P AL SERENS.

_tRL=

Ul

~N

DETAIL D

DETAIL E g

3 BRACKETS EACH SIDE

1/2" POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735

21" OR 24"
HIGH PANEL. GALV.
AND FREPAINTED
STEEL 25 GAGE ALL

18 GAGE GALV. STEEL CENTER HINGE
(RESIDENTIAL) ATTACHED WITH 4 FASTENERS.

20 GAGE GALV. STEEL CENTER STILE, ATTACHED
WITH TOG~-L—-LOC OR POP RIVETS TO PANELS.

13 GAGE GALV, STEEL TRACK BRACKETS.
FOR SPACING. FASTEN TO WQOD JAMBS WITH 5/16
LAG SCREWS & WASHERS. PREFPARATION OF JAMBS

SEE DETAL E.
SECTION B-B

P.S.F, TABLE

DOQR SIZE

DESIGN PRESSURE | TEST PRESSURE

WIDTH HEIGHT |PQSITIVE | NEGATIVE | POSITIVE | NEGATIVE
10'—0"|7"—0"|+27.0|=30.5 |+40.5 |-45.8
10'—0"|8"-Q"[+27.0{—30.5 |+40.5 |-45.8

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES
LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA T108-—05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS,

SEE ABOVE

MODELS EXCEPT
24 GAGE MODEL

16 GAGE GALV. STEEL TOP BRACKET
WITH 14 GAGE ROLLER HOLDER
SEE DETAIL D.

STRUT ON UPPER PART OF
SECTION BELOW ROLLER.
CARRIER.

2" ROLLER WITH 7/16" DIA.
LONG STEM.
TIRE: STEEL 10 BALL

STRUT ON UPPER PART OF
SECTION DN HINGE LEAF.
SEE DETAIL C

14 GAGE GALV. STEEL END HINGE
(COMMERGIAL) ATTACHED WITH (5)
SCREWS. SEE DETALL C.

STRUT ON UPPER PART OF
SECTION ON HINGE LEAF.
SEE DEATAIL C.

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4” X 3/4"
LONG HEX HEAD SELF
DRILLING SCREWS,

(2 PER VERTICAL STILE)

STRUT ON UPPER PART OF
SECTION ON HINGE LEAF.
SEE DEATAIL C.

1-3/8" POLYSTYRENE INSULATION

QPFTIONAL FOR MOD. 724, 730,
750, 755, 426,

STRUT ON BOTTOM BRACKET

750, 755,
o
13 GAGE GALV, STEEL BOTTOM HRACKET
BOTIOM SCREW 2AN DE ABOVE OR
SECTION A—A  BELOW ROLLER.
"X 1=1/2"
BY OTHERS.

Carrollton

John E Scates PE
3121 FAIRGATE_DR,

TX—PE HA308—F—2203

FL—PE-51737
(972) 4929500

TX 75007

Professional Enginear's seal
provided only for verification of
windload canstruction details,

—-1 r‘— 1.25"

|

3"

1

L—— 275" ,,‘

DETAIL A
3" 20GA WIDE STRUT

USE ONE EXTRA SELF

DRILLING SCREW THROUGH

TOP LEAF OF HINGE,
END STILE & RAIL

ALTERNATE CONSTRUCTION

OPTIONAL_5SB USING {(2) STRUTS

GLASS LIGHTS

5 STRUTS : —_
= : N
3" 20 GA WIDE e 77 /|| LONG. PANEL
(SEE DETALL A) ; - EMBOSSES
LI ML H 7 ore
8 B

g e

“__—l |:| m E ‘\-OPTIONAL LOCK

Vo2l AY .

10" (SINGLE CAR)

CENTER STILES & HINGES
(2 COLUMNS)

NOTE: IF OPTIONAL 4 EMBOSSES
ARE SUPPLIED, 3 COLUMNS OF
CENTER STILES ARE REQUIRED.

20 GAGE
END STILES

4" X 16" AIR VENTS
22) REQ'D,

60 §Q. IN. MIN.
OTAL OPEN AREA)
QPTIONAL,

NOTE: DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BQTH

TRACKS ON DOQRS WITH EXTENSION

TYPICAL EACH END HINGE SPRINGS).
@ ﬁ
1 20GA. END CAPS:

@]

o/ \\\\ /

0 \ /

RAlLSl
L.H.
DETAIL C

10 X 7/

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"=20 X 5/8" HEX HOLTS & NUTS OR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

NOTE: GLAZING DOES NOT SATISFY IMPACT

10 X 8

DEBRIS REQUIREMENTS IN FEC FL 1508@'
5800 SCOTT
WINDSOR | o o
LITTLE ROCK, AR
72209
Doon (501) 562—1872
MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
D_|REV LOGO & ADDRESS|1/28/13 WINDLOAD RESIDENTIAL PAN DOOR
C |——112/15/11 RLB W3 B
B 2866 |3—10—-08| RLB
A 12848 {11-1-07| RLB NEXT LEVEL DATE; DWG. NO.
5810 | 3-8-07 | RLB 2/27/07 | 9g-g-081
REV/ECN.| DATE  |APPROV.| RENE | PLOT SCALE | DRN BY  Imerer 5 oF 5




3/4" X 1-1/2" X 13GAGE MIN.

GALV. STEEL HORIZONTAL ANGLE, 2" GALV. STEEL

HORIZONTAL TRACK

OF THE DOQR.

© \

13 GAGE MIN. GALV. STEEL

FASTEN TO WoOD JAMB WITH

2" 16 GAGE GALV, STEEL
" VERTICAL TRACK BOLTED

TO TRACK BRACKETS WITH

—SEE DETAIL E° r
63"

OPENING HEIGHT ]J/
(NOT OVER —
DOOR HEIGHT) | [ ]I

.

B

20GA. END STILES FASTENED TO
PANEL WITH TOG-L—LODCS.

USE END CAP OVER END STILES.
(SEE DETAL B)

STOP MOULDING NAILED EVERY 6"
6-D TYPE NAIL MIN.

It 1t

)]

\NAY ppy

16 GAGE OR 13 GAGE.
BASED ON THE WEIGHT

ke

USE
SHEE

TRACK SPLICE OR FLAG BRACKET.
5/168" X 1-1/2"LAG SCREWS.

1/4"-20 X 5/8" TRACK BOLTS.

¢y
DETAIL E

1/4" X 1/2" LONG
CARRIAGE BOLT & NUT

USE EXTRA
1/4" X 3/4

HEX HEAD SELF
DRILLING SCREW

4" X 3/4"
AL SCREWS,

|4 BRACKETS EACH SIDE}

NOTE: UNLESS SPECIFIED OTHERWISE,

ALL FASTENERS ARE 1/4"-14 X 3/47
1" HEX HEAD SHEET METAL SCREWS OR
1/4"—20 X 5/8" HEX HOLTS AND NUTS.

1/2” POLYSTYRENE
INSULATION STANDARD
FOR MODEL 735

4

20 GAGE GALV. STEEL CENTER STILE
ATTACHED WITH TOG~L-LOCS OR RIVETS

18 GAGE GALV. STEEL CENTER HINGE
RESIDENTIAL ATTACHED WITH 4 FASTENERS

13 GAGE GALV. STEEL TRACK BRACKETS, SEE ABOVE FOR QUANTITY
AND SPACING, FASTENED TO WOOD JAMBS WITH 5/16" X 1-1/2"

LAG SCREWS & WASHERS.
SEE DETAIL E.

SECTION B—B

PREPARATION QF JAMBS BY OTHERS.

P.S.F. TABLE

DOOR_SIZE DESIGN PRESSURE

TEST FRESSURE

WIDTH | HEICHT | POSITIVE | NEGATIVE

POSITIVE

NEGATIVE

16"—-0"7"—-0"| +26.0 | -29.1 | +3

9.0

—43.7

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TC WITHSTAND THE PRESSURES

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-—05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

DETAIL D

21" HIGH PANEL

MODELS EXCEPT
24 GAGE MODEL
750, 755.

SEE DETAIL D.

TIRE: STEEL 10 BALL

STRUT ON UPPER PART CF
SECTION ON HINGE LEAF.
SEE DETAIL C

STRUT ON LOWER PART OF
SECTION ABOVE HINGE LEAF
SEE DETAIL C.

14 GAGE GALV. STEEL END

(6) SCREWS. SEE DETAIL C.

STRUT ON UPPER PART OF
SECTION ON HINGE LEAF.
SEE DETAIL C

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4"7
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

STRUT ON LOWER PART OF
SECTION ABOVE HINGE LEAF
SEE DETAIL C.

1-3/8" POLYSTYRENE INSULATION

CALY. AND OPTIONAL FOR MOD. 724, 73Q,
PREPAINTED STEEL 750, 755, 426,
25 GAGE ALL STRUT IN MIDDLE OF SEGCTION.

ATTACHED WITH 3 SCREWS.

2
SECTION A—A

T AVA K
John E Scates PE
3121 FAIRGATE DR.
Carrollton, TX 75007
TX—PE 56308~-F-2203
FL—PE-51737
(972) 492-9500
Professional Engineer's seal

provided only for verification of
windload construction details.

16 GAGE GALV. STEEL TOP BRACKET
WITH 14 GAGE ROLLER HOLDER

STRUT JUST BELOW TGP HRACKET.

2” ROLLER WITH 7/16" DIA. LONG STEM.

HINGE (COMMERCIAL) ATTACHED WiTH

13 GAGE GALV. STEEL BOTTOM BRACKET

6 STRUTS

3" 18GA WI
(SEE DETAIL A)

4) REQ'D.

120 8Q. IN. MIN.
TOTAL OPEN AREA)

OPTIONAL.

D

B
OPTIONAL LOCK—/

SEE DETAILS c:/ i

4"X 16" AIR VENTS

OPTIONAL $SB GLASS LIGHTS ]

ALTERNATE CONSTRUCTION

USING (2) STRUTS.
N

OPTIONAL
LONG PANEL
EMBOSSES

3

1
f

{\
7 1LY

—

)

CENTER STILES
(5 COLUMNS)
CENTER HINGES
(3 COLUMNS)

16" (DOUBLE CAR)

168GA. END CAPS

l(_éJWCER STRUT |
Sonon. 2% S /
USE TWO EXTRA SELF B \
DRILLING SCREWS THROUGH
HINGE, END STILE & RAIL o /
AS SHOWN,
TYP. EACH END HINGE.
\ ; (/ DETAIL B
X ] \\ > —| — 1.25"
00 A\’
\O/ \\ / ' NQTE: DOOR MUST BE INSTALLED
o A J IV ETHER A ELECTRIC OPERATOR
UPPER STRUT o
éSEECT%%N ” i/ RNLS\\X/ ‘L gﬁgﬁ:ﬁgsfrq DOORS WITH EXTENSION
LH. l——z.75”———‘
- 3" 1BGA WIDE STRUT
NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC FLL 15080 /l 6 >< 7
5800 SCOTT
HAMILTON DR.
LITTLE ROCK, AR
72209
(501) 562-1872
MODELS:
724, 426, 730, 735, 750, 755
D |REV LOGO & ADDRESS|1/28/13 PART NAME:
WINDLCAD RESIDENTIAL PAN DOOR
C | ——112/15/11 | RLB J90[eRANCE| W3 B
B |2866(3—10-08]| RLB 1 rear
A |2848[1T1—-1—07| RLB |TASL 'S4 TNEXT LEVEL | DATE: DWG. NO.
2870 3-8-07 | RLB JAV & v 2/27/07 | 99_g—081
REVIECN.| DATE |aPProv] RGNE | PHOT SCALE | DRNG 8 mohFET 3 OF 5




3/4" X 1-1/2" X 13GAGE MIN,
GALV. STEEL HORIZONTAL ANGLE

2" GALV. STEEL
HORIZONTAL TRACK

16 GAGE OR 13 GAGE
BASED ON THE WEIGHT

=

OF THE DDOR.—\

13 GAGE MIN
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH
5/16" X 1—1/2" LAG SCREWS.
27 16 GAGE GALV. STEEL
VERTICAL TRACK BOLTED

TO TRACK BRACKETS WITH
1/4-20 X 5/8" TRACK BQOLTS.

1/47 X 1/2" LONG
CARRIAGE BOLT & NUT

USE EXTRA

1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

USE 4" X

SHEE%Z?\A :

GALV. STEEL

OPENING HEIGHT
(NOT QVER
DQOR HEIGHT)

/ SEE DETAIL E

'

% |
-

ETAL SER WS

8
U |

DETAIL D o
——| [ 1.257 :I
"
3 b

1-— 2.75" ~—l
DETAIL A

3" 20GA WIDE STRUT

1/2" POLYSTYRENE
INSULATION  STANDARD
FOR MODEL 735

[4 BRAGKETS EACH SIDE

20 GAGE END STILES FASTENED TO
PANEL WITH TOG—L—LOCS.

USE END CAP OVER END STILES.

(SEE DETAIL B)
STOP MOLDING NAILED EVERY 8° RIS
6-D TYPE NAIL MiN. T~

— =

N

24"
PANEL GALVY AND
PREPAINTED STEEL
25 GAGE ALL
MODELS EXCEPT
24 GAGE MODEL
750, 755.

18 GAGE GALV, STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS.

13 GAGE GALV. STEEL TRACK BRACKETS.

AND SPACING. FASTENED TO WOOD JAMBS WITH 5/18" X 1-1/2"
éé?: ?)%RAI::IVIYSE& WASHERS, PREPARATION OF JAMBS BY OTHERS.
SECTION B—B
P.S.F. TABLE
DOOR_SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE |NEGATIVE
16°—0"|8'-0"[+26.0 |{—29.0 |+39.0 |-43.5

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

20 GAGE GALV. STEE[ CENTER STILE.
ATTACHED WITH TOG—-L—-LDCS OR RIVETS.

SEE AHOVE FOR QUANTITY

I

A

™

i):/
1 —~3/8" POLYSTYRENE INSULATION

OPTIONAL FOR MOD. 724, 730, 750,
755, 426.

16GA. GALV. STEEL TOP BRACKET
WITH 14 GAGE ROLLER HOLDER
SEE DETAIL D

STRUT JUST HELOW
TOP FIXTURE.

(

2" ROLLER WITH 7/16" DIA. LONG STEM.
TIRE: STEEL 10 BALL.

OPTIONAL.
4" X 16" AIR VENTS

14 GAGE GALV. STEEL END
HINGES ATTACHED WITH
(6) SCREWS, TYP. (SEE DETALL C).

é

OPTIONAL SSB GLASS

LIGHTS

ALTERNATE CONSTRUCTION

USING (2) STRUTS.

i] i ! ] |
s s — | e,
3" 20GA WIDE H F ; = EMBOSSES
e E LI IO TN T L A
! W | |ﬁr—“| [l 11| IR 1T L el
i—-‘l m—— .— \\__
OPTIONAL
[ ﬁ-ﬁﬁ - LOCK
SEE L ol 3
[l |
_/ 16' (DOUBLE CAR) J

(58

D‘Ery}/

(3)
4) REQ'D.
120 SQ. IN. MIN,

TOTAL OPEN AREA)

STRUT ON UPPER PART OF
SECTION QVER HINGE
LEAF. {SEE DETAIL C).

STRUT ON LOWER PART OF
SECTION ABOVE HINGE
LEAF. (SEE DETAIL C).

GALVANIZED STEEL STRUT,
ATTACHED WITH 1/4" X 3/4°
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE}

STRUT QVER BOTTOM BRACKET

\ 13 GAGE GALV. STEEL BOTTOM BRACKET

ATTACHED WITH 3 SCREWS.

SECTION _A—A

NOTE: UNLESS SPECIFIED OTHERWISE,
ALL FASTENERS ARE 1

4—14 X 3/4

HEX HEAD SHEET METAL SCREWS OR

1/4-20 X

5/8” HEX BOLTS AND NUTS,

John E Scates PE

FL-PE
(573) 435 ¥500

3121 FAIRGATE DR,
Carrollton, TX 78007
TX—PE 56308 F—2203

Professional Engineer’s seal

provided only for verification of
windload construction details.

93

o f} 0

CENTER STILES

COLUMNS

CENTER HINGES

COLUMNS

NOTE:; DOOR MUST BE INSTALLED
WITH EITHER AN ELECTRIC OPERATOR
OR A LOCK (MUST ENGAGE BOTH
TRACKS ON DOORS WITH EXTENSION

SPRINGS).
[ /
TYP. LOWER STRUT REF.—__ \
USE TWO EXTRA SELF DRILLING 2 7
SCREWS THROUGH TOP AND
HOTTOM LEAF OF HINGE,
END STILE & RAL AS o /
SHOWN, -0 (
TYP. EACH END HINGE. /
2" STEEL ROLLERS ™o | 7 />
(LONG STEM) —— i ,T / /
TYP. UPPER STRUT REF. ——||\o/ / / \
C [N /
/
LH.
RAILS
DETAIL C

NOTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

END CAP,

DETAIL B

16GA.

END STILE 20GA.

FL 15080

1o X &8

5800 SCOTT
WINDSOR |10 o=
LITTLE ROCK, AR
72209
DOOR (501) 562~1872
MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
D |REV LOGO & ADDRESS | 1/28/13 WINDLOAD RESIDENTIAL PAN DOORS
C 12/15/11 RLB TOLERANCE| W3 B
B_|2866[3-10-08 RLB 1 en
.k1/84
A 2848 [11-1-07] RLB_ |ore & fis | NEXT LEVEL ,DATE ] DWG. NO.
2810 5-8=07] RIB |MC = | DéN /BY 99—B—081
REV.|E.CN.| DATE | APPROV.| RgNE |FHOT SCALE B SHEET 4 OF 5




© \

OR FLAG BRACKET.
JAMB WITH 5/16"

VERTICAL TRACK

3/4" X 1-1/2" X 13 GAGE MIN.
GALV. STEEL HORIZONTAL ANGLE,

13 GAGE MIN., GALV. STEEL TRACK SPLICE

—— 2" 13 GAGE GALV. STFEL

2" GALV. STEEL

(3) 1/4" CARRIAGE BOLTS

HORIZONTAL TRACK
16 GAGE OR 13 GAGE, Q
BASED ON THE WEIGHT
OF THE DOOR. 1/4" X 3/4
SHEET METAL EXTRA
SCREWS 1/4" X 3/4"
HEX HEAD SELF
DRILLING SCREW

FASTEN TO WGOD
X 1-1/2" LAG SCREWS

/SEE DETAIL E 74" {16 X 8)

63" (16 X 7)

I
DPENING
HEIGHT
(NOT DVER (06 x B
DOOR - e
HEIGHT) [

39" (16 X 8)
IJ 36" (16 X 7) D_EIM

|5 BRACKETS EACH SIDEI

!
24" (16 X 8)
20" (16 X 7)
5 |
f

20 GAGE END STILES — FASTENED

WITH TOG~L-LOCS TO PANEL.

USE END CAP OVER END STILES,
(SEE DETAL B)

Y | STOP MOULDIN

{1

—D TYPE NAIL MIN.

G NALED EVERY 8"—_ R W

Vi

18 GAGE GALV, STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS. (RESIDENTIAL)

20 GAGE GALV, STEEL CENTER STILE, ATTACHED
WITH TOG—L-LDC OR POP RIVETS TO PANELS,

13 GAGE GALV. STEEL TRACK BRACKETS.

SEE ABOVE

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2"
LAG SCREWS & WASHERS. PREFARATION OF JAMES BY OTHERS.
SEE DETAL E.
SECTION_B-B
P.S.F. TABLE
DOOR SIZE DESIGN PRESSURE | TEST PRESSURE
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
18'=077"'—0"|+26.0 |—29.1 |4+39.0 |—43.7
18'-078'-0"+26.0 |—29.1 |+39.0 |-43.7

DOORS SHOWN ON THIS DRAWING HAVE BEEN DEMONSTRATED TO WITHSTAND THE PRESSURES

LISTED IN THE TABLE ABOVE VIA TESTING TO ANSI/DASMA 108-05.

DETERMINATION OF SUITABILITY FOR SPECIFIC SHES IS THE RESPONSIBILITY OF OTHERS.

DETAIL D

1/2" POLYSTYRENE

INSULATICN
STANDARD FOR

MODEL 735 \

217 & 247
HIGH PANEL. GALV.
AND PREPAINTED

STEEL 25 GAGE ALL

MODELS EXCEPT
24 GAGE MODEL

T

2

ilin s

z FANNMUENNNY

Y

i

750, 755.
0 ®
W
SECTION A—A

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"~20 X 5/8" HEX BOLTS & NUTS OR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

(972

Jdohn E Scates PE
3121 FAIRGATE_DR,
Carrollton, TX 75007
TX—PE 58308—F-2203
FL-PE-51737

) 492—-9500

13 GAGE GALV. STEEL TOP BRACKET
WITH 10 GAGE ROLLER HOLDER
NOTE THAT ROLLER HOLDER

CURL IS TURNED DOWN.

SEE DETAIL D
STRUT JUST BELOW B STRUTS
TAF FIXTURE, " 18GA WIDE

STRUT ON LOWER PART OF (SEE DETAIL A}

SECTION ABOVE HINGE LEAF,

2" HURRICANE ROLLER WITH
7/16" DIA. LONG STEM.
TIRE: STEEL 10 BALL.

STRUT ON UFPFER PART OF
SECTION ON HINGE LEAF.
SEE DETAIL C.

STRUT ON LOWER PART OF
SECTION ABOVE HINGE LEAF,

14 GAGE GALV, STEEL END
HINGE (COMMERCIAL) ATTACHED WITH (6)
SCREWS. SEE DETAIL C.

STRUT ON LOWER PART OF
SECTION ABOVE HINGE LEAF,

STRUT ON UPPER PART OF
SECTION ON HINGE LEAF.
SEE DETAIL C.

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/4
LONG HEX HEAD SELF
DRILLING SCREWS.

(2 PER VERTICAL STILE)

1-3/8" POLYSTYRENE INSULATION

QPTIONAL FOR MQD, 724, 730,
750, 755, 426.

STRUT ON BOTTOM BRACKET.

SEE DETAIL C

HURRICANE ROLLERS
(LONG STEM MADE WITH

HIGH STRENGTH STEEL)—\

OPTIONAL SSB

GLASS LIGHTS \

ALTERNATE CONSTRUCTION
USING (2) STRUTS

A .

OPTIONAL
LONG PANEL
EMBOSSES

™~— OPTIONAL LOCK

Vi Vi /e v Vi ViU U I7/ //l
7' & 8
B
3] . .. 0 ‘
\ A |
18" (DOUBLE CAR) .
i egip VR VENTS CENTER STILES (7 COLUMNS)
§1%0 5Q. IN. MIN CENTER HINGES (3 COLUMNS)
OTAL OPEN AREA)

OPTIONAL

USE TWO EXTRA SELF
DRILLING SCREW THROUGH
HINGE LEAF, END STILE
AND RAIL AS SHOWN,

TYPICAL EACH END HINGE

13GA. END CAP.—/

G /

o0

o/ AN/

o A\

o \ /
RAILS

LH.

DETAIL C

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 2 FASTENERS.

NQTE: GLAZING DOES NOT SATISFY IMPACT
DEBRIS REQUIREMENTS IN FBC

NOTE: DOOR MUST BE INSTALLED

20 GAGE

DETAIL B
~ 12

|

3

END STILES

i
I‘—— 2.75" ~—‘

DETAIL A

3" 1BGA WIDE STRUT

18 X 7/

FL 15080

18 X 8

WITH EITHER AN ELECTRIC OPERATOR
OR A LOGCK (MUST ENGAGE BOTH

TRACKS ON DOGRS WITH EXTENSION

SPRINGS).

WINDSOR
DOOR

5800 SCOTT
HAMILTON DR.
LITTLE ROCK, AR
72209

(501) 562—1872

Professional Enginear's seal

provided only for verification of

windload construction details.

MODELS:
724, 426, 730, 735, 750, 755
PART NAME:
D |REV LOGO & ADDRESS|1/28/13 WINDLOAD RESIDENTIAL PAN DOOR
C |——|12/15/11 | RLB W3 B
B [2866|3—10-08| RLB
A 2848 | 11/1/07 | RLB NEXT LEVEL DATE; DWG. NO.
5810 | 3-8-07 | RLB 2/27/07 99—B—DB1
REV.JE.CN.| DATE  |aPPRov] RENE | FLOT SCALE | DRN.BY  FiEeT 5 oF 5




